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K IR ft JE 10. 00| FA % 55 550 1, 080 795 324
% B | 10,00 fxt| 50| 3,500] 1,080  se4| 648
HOR w5 5. 00 [ FH %} 11 55| 3,888 2,258 1,512
X D O 12. 00| #856f 433 5,196| 1,296 818 302
F O NAE M5 4. 00| AR} 258 1,032 2,160| 1,651| 1,382
H % & I 3. 00| FHxf 121 363 1,836 1,164 918
H A ] 1L 1. 00| FHxf 175 175 756 631 432
ENIEE 5000 k%] 2| 10| 2,430 2,160 1,890
A w5 2. 00 | FH %} 259 518 1,080 914 540
[ I\ w5 5. 00 | #H 5t 1,275 6,375 2,484 2,047 1,404
~7 k= |k F 3. 00 [ FH %} 9 27 1, 620
IR Ak L 2. 00| FHxf 17 34| 2,484 2,401| 1,296
H % (i 5. 00| FHxf 71 355 1,944 1,880 1,296
SEE JEE I 10. 00 | #H%f 596 5,960 3,240 2,598 1,728
B ¥ = 10. 00 | #H % 136 1,360 3,024 1,898| 1,620
£ A AL E 20. 00 | #H 5%} 97 1,940| 4,968| 4,637| 3,780
(@ | 10000 fEKE|  s7a| 3,740| 3,024| 2,365 1,080
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ID:1210 pP- 2

P g SR
ESR S TR = 1 =i Q1 IV NI )
Rz AFN044£02 H 07 H eI Dt e/ 20 (Biir)
i 4 JE = Wae | %K F e T fE g2y ]

38 Foak L 10. 00 | #H%F 142 1,420 2,376 1,645 648

5 U H & 10. 00| AHxf 14 140 2,916

SR iR 10. 00 | #H 5t 39 390| 4,320 4,137| 3,99

YaFa— H 10. 00 | #H%f 98 980 5,616| 5,315| 4,860

Avava 7 4 U ¥ | 13.00]| A%t 2 26 2, 268

HEFH D & [ 0. 27 | ¥H %} 3, 472 938 648 561 486

S 5 0.25( fHxt [ 10,914 2,732 540 442 270

IRBHD Y £ I 0. 25| FH*} 3, 287 828 605 467 346




